3 1%

SR04 GBS ET E R AR R AR S F A E TR (B 1 5)

SR04 FUISET O [F REREARRSN XM ETHE (F15) X, RICEDD &
AL D,

2 e Sepe
Sy )

(AT T 5 O A IE)

B1Hd MEORARH PTHEHOBRBEICKARHTENENA 1 8 THEHMAEL., mA
i TRERORELZEAZRNZENENLS, 379, 034FTHEED D,

2 WMARHTEOMEDOKED XK OHLX S T L O OIS IER O A
W TEOSEIT, TH1IREAKETEME] I2X 5,
T4 6 A1 0 HIEEH FARET R R OE A



F1R BRARHFPEMIE

A
% H WEROE | % E @ Bt
¥ ¥ e
’] X H = 2,320,192 418 2,320,610
I1REHEE-@#hE 2,320,192 418 2,320,610
& A a it 3,378,616 418 3,379,034
H
& & WENOHE | # E % it
¥ ¥/ T
14 % = 23, 864 418 24, 282
1# % & B # 21,059 418 21,471

& H a H 3,378,616 418 3,379,034




i A i A 1IE P S IE A BRI S

1 5
(®m A)
= HWIERIDFELE WE P EHEE Hi
M FM FH
TEREERKR 749, 847 0 749, 847
2 8 53 H & 2,320,192 418 2,320, 610
3 Bf = lijr} A 1 0 1
4 & A % 302, 568 0 302, 568
5 #& it o 1 0 1
6 & ljr} A 6,007 0 6, 007
% A =1 g 3,378,616 418 3,379,034




(% &)

S FHIERTD T H4E MIETFHE

FH FH A

1 # % = 23, 864 418 24, 282

2f%k K& % & £ 2,261,816 0 2,261,816

3|§|E1§3}§1§B§$¥§ 1,045, 692 0 1,045, 692
) ft =

IR B = = 39, 671 0 39, 671

SE & B I = 1 0 1

6 & -3 H & 3,572 0 3,572

1% & = 4,000 0 4,000

m W & &t 3,378,616 418 3,379,034

w E ¥ OB OB O B E W
s % Bt i
B 3
R T U R O MR
M M FH FH
418
418




2 m A

() 2 Btz

(1®) 1 BRiEE - whE

#
FH TFH FM
TR KR & + & F 2,320,192 418 2,320,610
X ft =
H 418 2,320,610

2,320,192

i
BA
X o #
FH TH
2R KRBT EFHE 418 | FrRIFRERfFE (HETFE ()
x 1t =
(%3 X &)




3 m H

@ 1 RBE
(B) 1 RBEES
WEFHHEOMBEAR
_ BENO | # E -
FHE | F U H — — & o R
#7518 Z ot
XiHe
FH ¥ ¥ FH ¥ ¥ FH
1 — 2w E 17,518 418 17,936 418
#
B 21,059 418 21,477 418

et FEBETE RAER AR AR5

i
Bt B
K 2 #
( EFWESTHEE. [ ) HENPEEERT
FH TH
12% i ot 418| EREERR 18 (17,936) [17,518)
—REREg
12 FEH 418
BEL AT LBESHENY 418
N 8 N




IS

1 BADHIE
TR B S A @ (FRRIZS A 4) DIV, RXHe % 4 1 8 T4
T2,
2 R OAIE

B R R R — A B B SR OW RISV, B R 2 4 1 8 THEET L,



